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® FHUIT ST H of fobh 387 AT H HAGT o6 13 AT 9T
34 ¢ |

® Please make sure that the printed pages in this
guestion paper are 13 in number and it contains 34
guestions.

® YA-UF & Gl N CT 91T &3 sy &l BF IR Icak-
JRedeT & Ugel J56 W for@r S =g |

® The code No. on the right side of the question paper

should be written by the candidate on the front page of
the answer-book.

® fhdl UReT & 3ok &l Y& Aol ¥ UG IHHI HHAlh
@ gem




® Before beginning to answer a question, its Serial
Number must be written.

® 3G e YiEcerl H Wrell I5/ 53 o OIS |

® Don’t leave blank page/pages in your answer-book.

® 3cR-gidet & JfaRed #Is 3= efe =gl & Sah |
3 IMAIHATIR 8 fold 7 forer 3ca’ o Fic |

® Except answer-book, no extra sheet will be given.Write

to the point and do not strike the written answer.

o TdaTAT HYAT Vol AT Y2A-97 WX 31aey ford |

® Candidates must write their Roll Number on the
guestion paper.

® FHYAT YA HT 3ccR ool F Ugel T§ FARdd X o foh
9RA-UF YUT § HWEl g, 98T & 3IWid 56 §a¢ H His o
aTar TR sTgr fehar e |

® Before answering the questions,ensure that you have

been supplied the correct and complete question
paper,no claim in this regard,will be entertained after
examination.

g A

(i) Tt weaT 3rfeard § |

(i) 39 927-99 H 34 w7 & ;o T I @ust ; 3r,99 3R ¢
Hae v §

GUs ‘W ST WUS H 16 WA g | TAh A 1 37 &I ¢ |

gus ‘T 3 WUS H 17 @ 22 Tk Fel 6 9T § | TAh YA
2 37 FT g |



gus ‘W:3H GUS H 23 § 30 dh Fel 8 YA & | IAh
U2l 4 3iehl &l g |

gus ‘T : 50 GUS H 31 ¥ 34 dh T 4 WA § | TeIh oA
5 37hi &l g |

(iii) @Us ¢ & 2 U H HdR+ fAdkeq QU arv § 3087 &
Teh & I I oAl

General Instructions :

(i) All questions are compulsory.
(ii) This question paper consists of 34 questions which
are divided into four sections : A,B,C and D :

Section ‘A’ : This Section consists of 16 questions from 1

to 16. Each question carries 1 mark.

Section ‘B’: This Section consists of 6 questions from

17to 22. Each question carries 2 marks.

Section ‘C’: This Section consists of 8 questions from 23

to 30. Each question carries 4 marks.

Section ‘D’: This Section consists of four questions from

31 to 34. Each question carries 5 marks.

(iii) Section ‘D’ contains 2 questions where internal

choice have been provided. Choose one of them.
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yus-31

SECTION-A
1. faf@a & O Sia-a@ 3aiay gear €2
(A) 2 V4 (B) V9 (C)2 +3 (D) 2 + V4

Which of the following is an irrational number?

(A) 2 /4 (B) V9 (C)2 + 3 (D) 2 + V4

2. 969G 6x"-7x-3% YrTh & 1
-1 3 -2 3 5 3 -1 5
(A)55 (B) =3 (C)5,5 (D) =3
Zeroes of the polynomial 6x* -7x-3 are:
15

-1 3 -2 3 5 3 _
(A)?’E (B)?’E (C)E’E (D)7,5
3. e & =l @1 | gfaurd §?

(A) ¥ +2x'=3  (B)x(x’-1)=4 (C) x+-=5 (D) (x’-1)’=2
Which of the following is a quadratic equation?

(A) X2 +2x=3  (B)x(x>1)=4 (C) x+% =5 (D) (x*-1)’=2

4. AP. 5 65,8,9% e, #T 15 dl 9g &

(A) 153 (B) 143 (C) 26 (D) 273
15" term of A.P. 5,65 ,8,9% .o, is

(A) 153 (B) 143 (C) 26 (D) 273



5.9f¢ T AP. &l T 9 12 31X 10 aT ug 26 §, o 3T
20 ar 9c & 1

(A) 46 (B) 52 (C) 50 (D) 44

If the third term of an A.P. is 12 and tenth term is 26, then its 20"
termis:

(A) 46 (B) 52 (C) 50 (D) 44

6. af¢ a7 THET AT & &1Thell & 36U 1:2 § @ SeTeh
3TST3MT T 3TeTIT IIT: 1
(A) 1:4 (B) 1: V2 (C) 1:2 (D) 2:1
If areas of two similar triangles are 1:2 then ratio of their sides are:

(A) 1:4 (B) 1: /2 (C) 1:2 (D) 2:1

7.3fe 3T ABC & it & fdems A(4,-6), B(3,-2) 3R
C(5,2) &, BC & Ay foig & fadens §: 1
(AN40)  (B)(-1-2) © 6.2 (D) (1,2)

If the vertices of a A ABC are A(4,-6), B(3,-2) and C(5,2) ,then the
coordinates of the mid point of BC are:

(A)(4,0) (B) (-1,-2) © G2 (D) (1,2)



8. {93t (-1,7) and (4,-3) & s =T g &:

(A)7V7 (B) 5v7 (C) 25 (D) 3V3
Distance between the points (-1,7) and (4,-3) is:

(A)77 (B) 57 (C) 25 (D) 33
2 tan 2 30° .

' 1+tan230°$r Hled %—

(A)V3 (B)> (©) - (D)3

The value of 12+t:;n22330000 is:

(A) V3 (B)> ©) - (D)1

5

10. Zlﬁ'\'cosecA=Z,ET dr tanA &T HTT %‘:

@4 2 (B) : (© 3 D)

w | u

5 .
If cosec A= n ,then value of tanA is:

4 2 B) 2 © 3 (D)

w | u

11.9cd & 37X Foud frell g @ god W Wi 715 T
@it f ge gl
(A)1 (B) 2 (C) 3 (D) O
Number of tangents drawn from a point inside the circle is:

(A)1 (B) 2 (C) 3 (D)O



13. AABC 3iR ABDE &r HHTG ferst 39 9 8 T D 8fam
BC &1 #ey 9g &l (et ABC 3R BDE & &ld%hell &7
ECRICES

(A) 2:1 (B) 1:2 (C)4:1 (D) 1:4

A ABC and A BDE are two equilateral triangles such that D is the mid
point of BC. Ratio of the areas of triangles ABC and BDE is:

(A) 2:1 (B) 1:2 (C) 4:1 (D) 1:4

14. Teh dole] & YR &l I 4.2 T.A. 3R 35 5 a5
g Oy 3T AT & 1
(A) 22.051 (B)7.35 & (C)21m (D)19rm

The diameter of the base of a cylinder is 4.2 cm and height 5 cm ,then
volume is:

(A) 22.051 (B)735 m (C)21mr (D)19m
15. 12,21 d4T 84 &1 H.C.F. gl 1
(A) 2 (B) 3 (C)7 (D) 4

H.C.F. of 12,21 and 84 is:
(A) 2 (B)3 (C) 7 (D) 4



16. GHTAIUN x+2y+3=0 3 2x+4y+6=0 & g & [T

efaf@a & & Sl ar a7 & 1
(A) 3TEfadT T g (B) 3aRfAT 3% go
(C) =l goT eI (D) SoAH ¥ HIS Tl

For solution of equations x+2y+3=0 and 2x+4y+6=0, which of the
following is true?

A) Unique Solution (B) Infinitely many Solutions
(C) No Solution (D) None of these
Lus-
SECTION-B
17. g2fisT & V2 e 3RAT T ¢ | 2

Show that v/2 is an irrational number.

18.0% gfddrd SEYS A $HIfST foras =g 3 3 -2 8 2

Find a quadratic polynomial whose zeroes are 3 and -2.

19. e V@ GOl & oA &l gl HIfaIT: 2

2x+3y=7 3R 6x-5y=11.

Solve the following pair of linear equations:
2x+3y=7 and 6x-5y=11.



20. UHY &1 HEIIV AT HIToTC fSierehr e 37 3R o= 300
g | 2

Find two numbers whose sum is 37 and product is 300.

21. 5 H.HT. TSI & Teh Jed &1 8 WAL ofFal Teh Siar PQ §

P 3R Q X T3l WU il 915 § Sl RER T fdg T W)
gfacde atdr g | TP &1 J=a1s A1g hifav | 2

PQ is a chord of length 8cm of a circle of radius 5cm. The tangents at
P and Q intersect at a point T. Find the length of TP.

22.Th YiH Pl T dR) el Sl g | AT J&IT Yrod e
$I IRl AT HITAT | 2

A die is thrown once, find the probability of getting a prime number.

Tus-g

SECTION-C
23.a 3R b & fohet AR & fAv oot Y@ qelon & oA
& HIRTAT & & 31k gol giar | 4

2x+3y=7 and (a-b)x+(a+b)y=3a+b-2

For which value of a and b does the following pair of linear equations
have infinitely number of solutions.
2x+3y=7 and (a-b)x+(a+b)y=3a+b-2



24.UF I & Teh T SHHT GO o & 2 QAL 3Hh §
| I SEHT &TFhe 195 WAL g1, ol A &I U AT
ST | 4

One side of a rectangle exceeds its other side by 2cm. If its area is
195 cm?, then determine the sides of the rectangle.

25. fRdT A.P. T 9 9g 5 3iR 3ifad ug 45 Jar Ier 400
g | el T g&ar 3 g9 3a Ag fifev | 4

The first term of an A.P. is 5, the last term is 45 and the sum is
400.Find the number of terms and common difference.

26. g HITAT & Th AHUJHST I 3T & Gall &l Frer
3G Qevifl & et & AET & a_reT g ¥ | 4

Prove that the sum of the squares of the sides of a rhombus is equal
to the sum of the squares of its diagonals.

27.9¢ tan2A=cot(A-18°) STGI 2A Ueh &1 HIUT § dl A &l Hlel
AT hITST | 4

If tan2A= cot( A-18°), where 2A is an acute angle,then find the value
of A.

28. (3,4) 3R (-4,7) A A arell I@T &1 y-3167 fohg 37T A
femToreT ecm &2 faenfala & arel foig & fAdene ofr #ra
T | 4

Find the ratio in which the line joining (3,4) and (-4,7) is divided by
Y-axis. Also find the co-ordinates of the point of intersection.
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29. P PR & o IR § RER F1 3meoifed 6 g & |
Jcdeh dISW Yol Hl ofFqas 25 J.#ALE 3R 120 ° & 0T W
gH BT TS F Hebell ¢ | Glcadl HT Tedeh §gR & A1y

fSIaeT & 9%eT ITH g ST §,98 ATd hifely | 4

A car has two wipers which do not overlap. Each wiper has a blade of
length 25cm, sweeping through angle of 120°. Find the total area
cleaned at each sweep of the blades.

30. Th 9T 7 90 35 § ™o W 1 & 90 d& &AW 3ifohd
g Ifc 30 Ur # O Ueh 3T Je<adr Adal Sl & df g9l
TRehdl AT AT b 38 f8Fr W 3ifehd gl (i) Tep qor
I & (i) 5 ¥ AHeT v g | 4
A box contains 90 discs which are numbered from 1 to 90. If one disc
is drawn at random from the box, find the probability that it bears (i) a
perfect square number (ii) a number divisible by 5.
ygus-q
SECTION-D

31. Th TYdeTsh Torgent oees 1.6 #AL & | Teh HEIR & 20 .
$I gl W & | e AR hr AEr 37T 3@ 9T 60 ° T 0T
gATdr &, aF AR fr FTs AT AT | 5

An observer 1.6m tall is 20m away from a tower. The angle of
elevation of the top of the tower from his eyes is 60°. Find the height
of the tower.

3ar

OR
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Ag o : (cosecA-sinA)(secA-cosA)(tanA+ cotA)=1

Prove that: (cosecA-sinA)(secA-cosA)(tanA+ cotA)=1

32. 4 Q.A ST & UF gcd W 6 4. Al FeTm &
Fherd goc o fordll Tdg & Teh T 3@1 & et HIfSw | 5

Construct a tangent to a circle of radius 4cm from a point on the
concentric circle of radius 6cm.

33. U ddd Teh @A 378Nl & 3R &1 § o W Th
GGl Joled JEIRTUT § Fic el 3R Solel & TR &l
g 21 QA 8, IR a1 A FT IA15 28 QAL & , dr
IdeT T 3T ATT AT | 5

A vessel is in the form of hollow hemisphere mounted by a hollow
cylinder. The diameter of the hemisphere and cylinder is 21cm. If total
height of the vessel is 28cm, find the volume of the vessel.

3ar

OR

A 2 Al T UH F3T 14 1 T TGS T WieT ST §
S Fal g8 9 A ST & AR IR 5 A A v
JATRR eI Tl §T HHAT T F B Toh T A1
ST & | 39 IR 1 3918 AT HIfav | 5
A well of diameter 2m is dug 14 m deep. The earth taken out of it has

been spread evenly all around it in the shape of circular ring of width
5m to form an embankment. Find the height of the embankment.
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34, AFATATAT 3MTehal &1 ATETS 28.5 ¢ | Ife ISRIRAT3T oAl

JET 60 8, x 3R y & AT AT AT : 5
S CIl 0-10 | 10-20 | 20-30 | 30-40 | 40-50 |50-60
3R
aw 5 X 20 15 \ 5

The median of the following data is 28.5. Find the values of x and vy, if
the total frequency is 60.

Class 0-10 10-20 20-30 30-40 | 40-50 | 50-60
Interval
Frequency 5 X 20 15 y 5
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